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1 PRI WA A 2 1.4 2.0 2.5 1.8 2.7
2 )1 L A 2 1.5 2.5 2.9 2.3 2.3
3 Pl B B R G A 2 1.2 1.9 .9 2.3 2.6
4 P T R 15 A 2 1.7 2.4 2.4 1.9 2.5
5 B 1| oA A 2 0.9 1.0 0.9 1.0 1.1
6 NG IR A A 2 1.5 2.3 2.6 2.5 2.2
7 KIIBEN KIYE)R O B 3 1.9 1.7 1.3 1.4 1.6
8 i B EwR TINERE A 2 0.5 0.5 0.5 <0.5 0.5
9 & BT RO A 2 0.5 <0.5 0.5 0.5 0.6
10 )l (1) HARNE A 2 1.4 1.1 1.7 0.9 1.4
11 Eh) (2) T B 3 2.3 1.6 2.6 1.5 1.9
12 I (2) W T A 2 0.9 1.3 1.5 1.8 1.6
13 A1 P K Y C 5 3.2 2.3 2.0 2.4 2.8
14 BN B KAAE A 2 1.5 1.3 1.1 1.3 1.8
15 )N TR KT B 3 1.5 1.1 0.8 1.1 1.5
(;iéf%) B 3 3.0 3.3 2.0 2.5 2.0
16 w2 ERETT
(10~48) C 5 3.2 3.8 2.7 3.3 2.8
17 Fell (3) N FHEBRHE B 3 1.1 1.5 2.2 1.8 2.4
(g%%f%) B 3 4.5 5.9 4.6 6.7 5.0
18 e R
(10~48) C 5 6.2 5.9 12.0 11.0 6.8
90.0 70.0 70.0 75.0 65.0
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1 251 )5 A 2 1.2 2.2 2.1 1.8 2.1
2 RN i RN A 2 1.5 1.6 2.0 L. 1.5
3 BEN Bk A 2 1.9 2.9 4.0 3.1 2.5
4 BAIN LT A 2 1.2 1.9 1.5 1.5 2.0
5 FABN MR A 2 0.6 0.7 0.7 0.9 0.8
6 T i B A 2 2.0 3.8 3.7 2.3 3.8
7 1T =G C 5 5.0 6.0 10.0 6.0 4.1
8 B PN S B 3 2.9 4.4 4.1 3.8 4.8
9 YN B3 B A 2 1.8 2.1 2.1 2.2 2.3
10 SRITIN R T C 5 1.6 2.0 2.2 2.1 1.8
11 RN TR T i B 3 1.2 1.4 1.4 1.3 1.4
12 e EE 1 —BRHE B 3 3.9 4.9 3.8 3.3 4.2

L (%) 91.7 41.7 41.7 50. 0 50. 0
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() RAWHTHIIOKEDOHYE (BOD 7 5 %fE : mg/L)
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1 BRI B3 BIGAT A 2 3.2 2.9 2.5 2.4 2.4
2 BRI T ot = TR B 3 3.6 2.3 2.9 2.1 3.3
3 HER) I B3R = TR A 2 1.7 1.8 2.5 1.8 2.0
4 SR IS B 3 3.0 3.4 4.2 4.4 3.1
5 iyl T~ B B 3 3.2 2.6 2.7 2.4 2.2
6 &) 1| B 1 B 3 2.4 2.2 2.5 2.5 2.3
7 RAem) HAR B* 3 3.0 2.0 1.8 2.0 2.5
8 ARES I i TSGR IR HE A 2 3.5 2.2 3.2 1.9 2.3
9 ST = HBRIE T H A B* 3 2.2 1.6 1.3 1.5 1.6
e (o 55. 6 66. 7 55. 6 77.8 55.6
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